



$$\text{Vaste koste} = \text{R1 000} + 2\,800 + 400 = \text{R4 200}$$

$$\begin{aligned}\text{Veranderlike koste per vlieër} &= \frac{\text{R4 500}}{100} + 30 \\ &= \text{R45} + 30 \\ &= \text{R75}\end{aligned}$$

$$\begin{aligned}\text{Bydrae} &= \text{Verkoopprys per eenheid} - \text{Veranderlike koste per eenheid} \\ &= \text{R195} - 75 \\ &= \text{R120}\end{aligned}$$

$$\begin{aligned}\text{Gelykbreekpunt} &= \frac{\text{Vaste koste}}{\text{Bydrae}} \\ &= \frac{\text{R4 200}}{120} \\ &= 35 \text{ vlieërs}\end{aligned}$$